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(A) Regw wlesw (B) dww wfgw (C) Tgeqws yawhia (D) wfery aeprel
Frfaliea ¥ @ 9= & Jg §9 &1 =29 Fifs
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15. 'oT=el’ W] 1 wEivEefEw w4 2

(A) S=E - (B) W= (C) %Iff (D) a3 feer
16. ‘ST’ T qATEETE ey § .

(A) Tow (B) =M (C) = D) =
17. ‘TR IR A fru s mwmgen 87 1
18. a8 WifesR Freiie fig = S0 Fh ﬁqquﬁmmwﬁmmﬂmy

Q). P (B) WWMWIEHF  (C) g Shet (D) e et
19. 7 9 3 - v awm 2

()1 (B) @m (©); sm (D) e
20. @H W IS e Sl frmasm Ay 2 L

(A) wgar= (B) g sRFHar=Ar (C) hefaren (D) wE=T=
21. Fefafea ¥ @ sh-sr=rad &2

A) S (B) T () = (D) =
22. Y 9 9UME =1 ST R 2 e

(A) e B) f&m C), €5 (D) FreFEE
23, ‘v V= § y@a e ? e

A = (B) =% (c) f= (D) =
24, ‘g’ & @fE@E ) 7y

(A) GUEI FAN HRH (B) jaaaﬁatﬁ

(C) i (D) Gfrie v
25. ‘Yon wfed soh’ - # W W A A@wmT - -

(A) HH= vfasaq e (B) Tmren wfaeaq wret

(C) 3TVl AR (D) WHA aAHHERA
26. = ¥ 4§ $9-T1 = Sl § 2

(A) ER (B) ¥4 (C) 3 (D) faam=
27 mmwﬁnwaﬁwﬁwﬁ%tﬁ

TH F1A Ufda H HH-91 SR § 2 5

(A) TUF (B) u°H ’(C)‘ RL| (D) IIE
28. fr=fafad & 4 srgfory o1 fag dm-we? [l

A Q) B) (=) 1©)y ) (D) G-)
29. FH-WAR IS E? N

(A) TERM % i T e s sen femn (B) q&ﬁmaﬁﬂﬁﬁ@%l

(C) Wl H Tral-arl | 3 &7 | YD)y Tferdl ot el HTT SEwEE ¢ |
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30. ‘SMEEA % @AERE :

l-ﬁﬂ]‘ﬁﬂ
(A) Qi da (B) Wwﬁ“
(C) weret ot (D) TR
31. N SW A FAE W) awmd: . - (D) ¥
(A) Friva=s (B) foawmms. - (C o
32. ‘A @ fem s Y Q) T
(A) wifEs (B) wiH {p. PR e g T R SR

' Ei
[W. ¥ 33 ¥ 37 Trarter we | e 3 st 4 e @ e AT G T T oy
ﬁﬁwmﬁﬁ]uﬁg%laﬁw'aﬂaﬁmﬂmWe‘ﬁimm ai’rmmgq:q:g
ot STt 3 sl 9 T e ot 5 i @ 7 €9 ST O L 3 e o5 o
@amw%lmmﬁﬁm@aﬂmﬁw-@ﬁﬁmwwﬁmﬂmﬁaﬂ?ﬂﬁmaﬁm
m@ﬁmmm@%lwmﬁﬁﬁﬂﬁﬁﬁw%ma mm%ﬂﬁﬁﬂﬁﬁ‘ﬁ‘—raﬁ_ﬁn
a;‘r@ﬁamﬁ?Wﬁﬁﬁmwm%ﬁﬁaﬁﬁmmaﬁ%a@ﬂ%mﬁ%
e @ ¥ Si R W o ot e, 8 e | G s o e e
mlmw%ﬁaﬁaﬂ?maﬁﬁm,aﬁﬂlﬁﬁﬁﬂﬁ'mﬁng@wqﬁwﬁmmﬁ
mmﬁﬂénﬁmm@%ﬁaawﬁ@ﬂaﬁﬁﬁzm'wﬁgﬁqﬁmmmﬁmﬂ
2 st ot ¥ oY e § 7a T T T T T d | St e lbert
mmaﬁmaﬁmﬁﬁwmﬁ@%@wéﬁmﬁmmwﬁ @q%gq%tvﬁfﬂaﬁmﬁ
@@ﬁ@mﬁ@ﬁﬁ,@ﬁﬂﬁ@@?@ﬂﬁ@ﬁ@m @‘r’a’@%ﬁw‘rﬁaﬁ%
e T &, it o e s s | T S0t forTe of | 37 T g W Sle- Ay
| v = S & Fors w W ¥, srdter 3 e § o S ST T TR % e T AR A

A =5 ST, ST HgE T W R H T T © | ¥ i ﬂﬂaﬁrnﬁ-’fﬁqﬁm%ﬁﬁm
aﬁa?@n%lmﬁqamm{:&m%,w&iﬁmﬁuﬁr%aﬂmmaﬁtqmaﬂmaﬁ%mmm
R S 9 6 T | S T ST ot Ty g e TR ge €, 3R T STt S o d W T 3 fo
} TS 9Ed S FE & | T AR 3t Foriaes farg st & 9o 8, R TR fore o 1 e T R g e @
e zhiera Ford 79 T ok formd aR H e ferdil A g fere e WM o &1 €, Uk T AR 6l 359 g,
T T a1 FHaR | U T8 ST S g §, U Qgiudl e § o1 © | SR, F A i 3T 7 7 3l
g men e yfte 7 2

33. TRV % ITHR, 3T HUAI I WHR FH o {oT¢ 8 1 T 2o 2

(A)  HE-FISFT SR @ 8 (B) STUR ¥ WA T BN
(C) wfa ufigm e & (D) TR dr=mr g

34, TR 1 WET % Herd e AT Y A HewHia W 2
(A) T TG erHT s (B) T R T w
(C) ®UF i@ iy foern (D) &k WM witaewR w

35. wfaw vyraafadl & fag -
(A)  Frie v w1 (B) "G 31w 2
© Wawwt e
36. W%Mﬂﬁﬁ?@ﬁ%ﬂﬂqﬁﬂ!ﬁmqﬁm?
(A) FFIFEm (B) I ER (g,
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37. "WRA WA A o A o 20
(A) st faem (B) 3wl W sieifEy <Y fiyern
(C) SR srermel B e (D) o1 s # e
38. i H T q T 2
(A) ?@ (B) =mw (C)~ fifim (D) &t
The national currency of Sri Lanka is : LN
(A) Euro (B) Kyat (G)- Ringgit (D) Rupee
39. ¥ 2021 ¥ W % i ¥ | 2000 TR F W H gy (F9a faferem &) 732
What is the value (in INR trillion) of Rs. 2000 notes éirculated at the end of March in the year 2021 ?
(A) 4.90 (B) 1.90 (C). 2.00 (D) 6.00
40. HiF W W AW IR ST TREYE F HRO - S % A S ¥ fere e ST 2
(A) STEENS (B) sieefeman (C) wnfsra (D) =
Which country is known for its extensive use of geothermal energy due to its unique volcanic
landscape ?
(A) Iceland (B) Australia (C) "Brazil (D) Norway
41. VRl A | ITIN H S TAA F et Ife-F ¥ G 1 il e g
(A) Tl SSH (B) WarEH (C)-, FTwaTE (D) W¥E 3TM
The economically secure white people migrated‘from urban areas to suburbs is called :
(A) Blackflight (B) Migration (C)™ Immigration (D) ~'White flight
42. eFi H fRa du Hieg §2 = 1
How many countries are present in Africa? ~ * .
(A) 56 (B) 50 (g 54 (D) 52
43. oA T SiowE A g w0 E? o
(A) wvR H swar fadedt sifimm - (B) v faedt st
(C) W il il awehd faielt 1fmm (D) Ua-urEE siewE
What is the ‘Operation Green Hunt' in India ?
(A) Counter-insurgency operation in Kashmir (B) Anti-Naxalite operation
(C) Anti-drug trafficking operation (D) : Anti-piracy operation
44. TR (WPI) &1 QUi &9 8 : Ty
(A) e TEE (B) I S
(C) o= i (D) Terde R S
The full form of WPI is : ey
(A)  Whole Price Index (B) Wall.Price Index
(C) Whole Print Index (D) Wholesale Price Index
as. farefta = Sifm womeht At wel o @ SR g1 o el # stffte s firerm
(A) 4-5<rE (B) 1-2 @@ (€)* 10-11 T/@ (D) 7-8w@
The financial or the banking system will receive an‘additional boost in terms of Crore of
base money each year. '
(A) 4-5lakh (B) 1-2lakh (C) 10-11 lakh (D) 7-8lakh
MYZ-24
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46. W T iadigim Gy a=i ¥ sfumRl w Hfa §? 5
Which international treaty focuses on the rights of children (D) ICCPR

(A) ICERD (B) CRC (C) CEDAW : e
47. aﬁaﬁmﬁﬂmﬁﬂﬂnmﬁﬁmﬂﬁﬂumwﬂaﬁﬁmaﬂmmm '

(A) el e Wi fafis (GAIL) [.(B) T dgiferd fafis

(C) =« iR winfaw i frm fafies (D) mm?ﬁlﬁﬁﬂ’f Indian G

Which company has become the first company in India to trade domestic gas on as

Exchange ? - harat Petroleum
AlL B) BharatFe bt
(A) GasAuthority of India Limited (G ) ( ) Indian Oil Corporation Limited

(C) Oil and Natural Gas Corporation Ltd A (D)

48. SAARG 1 Haos 941§ ?
(A) =Y TR TEEE BR 4SEd aﬁaqrq’(m
(B) WISY WIS THITHGRF R et IS
(C) URY-$= UNME THfawEH Bk I5Hel SIS
(D) WY WA THIRGTYH R d5Fer SreTRe
SAARC stands for :
(A) South Asian Association for Regional Gooperation
(B) South African Association for Fleg:onal Cooperatlon

(C) Southeast Asian Association for FleglonaT Cooperation
(D) South American Association for Heg:onal ‘Cooperation

49. THigHI 5N WRifed Hefread OTT dHeT - @@mwﬁ%mfﬂﬁm?

@A) fifea srearit (B)... o e

(C) T #gan (D), =Tam RGNS

Who directed the critically acclaimed Netflix OTI' series - Delhi Crime ?
(A) Nikhil Advani (B) “Hansal Mehta

(C) Richie Mehta (D) Vishal Bharadwaj

50. efegerrn &I gfE 9§ ITC &1 Ul 9 F1 &2
(A) e T HHE (A w aisT)
(B) 3Ye 9 wfee 2
(C) v 3 w T s

In terms of economy, what is the full form ofu’ITG ?

(A) Internal Tax Commerce _—“*"_*‘
(B) Input Tax Credit A
(C) International Tax Company =]

- (D) Internal Trade Commerce

51. wﬁmyﬂmm@ﬁﬁmmﬁ

(A) Taaer (B) R (C) feEsX (D) <
National Milk Day is observed in India, in which month ?
(A) September (B) November (C) December (D) June

MYZ-24 | 6




52. WA TR AfufEm, 1956 fha e Aifd wor S &2

(A) Tqa1 T (B) =u=@fds X (C) Waw &< (D) ¥| &
National Highways Act, 1956 is applied to which tax policy ?
(A) Service tax (B) Professional tax .(G), Entry tax (D) Tolltax

53. Teliferad Swe (A SR Hg) fRe w2 0
_ O
(A) ST (8) Wi (0) e (D) @rem 7T
Galilean satellites (or the four moons) belong tg which Planet ?
(A) Neptune (B) Saturn ;‘(Q).- Jupiter (D) Uranus
54, IHET 4T FW W iR frEd T ®? {'
(A) g (B) <ireREY areae
(C) va & &I =qarHiv (D) W
Who has the power to dissolve Lok Sabha ?

(A) President (B) Speaker of Lok Sabha
(C) ChiefJustice of India . (D) Prime Minister

55. ﬁﬂﬁﬁﬁﬁﬁﬁﬁﬁ?ﬁ%ﬁmm%ﬁnﬁqmmmmﬁxﬁm (MGNREGA) F T R 2
(A) wfaad 100 A & a7 IR = T ;1;
(B) Toroht & H ISR 1 U s
(C) Faa FUS FUHT Bl @H HE g

- (D) YR ISR SYS HIA =]
Which of the following is a feature of the Mahaﬂ'na Gandhl National Rural Employment Guarantee Act
(MGNREGA) ? N
(A) Guaranteeing 100 days of wage employment per year
(B) Offering employment in the private sector
(C) Targeting only skilled labor
(D) Providing urban employment

00

56. ASEAN (efaar) & ey § 9Ra &1 ‘TR 3=’ Aifq &1 = W €2
(A) =fer-gd it S % Wy e, mqﬁmai‘r{m@ﬁla:wﬂﬁwﬁ%
(B) AR & STaTR FH HE § P ;
(C) Fifaen wewfimar i Hifia wdt § ‘?_j
(D) oeErd A Wy .
In relation to ASEAN, what is the importance j IndlasAct East policy ?

e

(A) Enhances economic, strategic, and cult %1 a! ties with Southeast Asian countries
(B) Reduces trade opportunities “
(C) Limits diplomatic engagement
(D) Promotes isolationist policies

-

™~
=
s
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57.

58.

59.

60.

63.

?
Tl @ 8, o e < siafty st 3 Ry 2024 i e, ‘e e SR GEER P

(A) zam-3 faem (B) W aAifeiex faer

5 (D) ¥IRA-2 loration ?
Recently, which mission received the 2024 John L. ‘Jack’ Swigert Jr. Award for space exp ?
(A) Chandrayaan-3 Mission (B) Mars Orbiter Mission

(C) Gaganyaan Mission (D) Chandrayaan-2 Mission

DDoS &1 il WiH T |

(A) fefgeres 3u siiw wffg (B) ~ =miae fermam it afed

(C) fere feamm sifw whfa (D) - fefigeps feara siih afda

Full form of DDoS is iy’ '

(A) Distributed Data of Service (B) " Direct Denial of Service

(C) Detailed Denial of Service (D) Distributed Denial of Service

2014 # W | Aot Wit R fras wrer R ?

A) A ¥/ (B) Fwwwemeff (C) weX I (D) fear qug

Who received the Nobel Peace Prize in 2014 in India ? r
(A) AmartyaSen  (B) Kailash Satyarthi (C) MotherTeresa (D) Nadia Murad

wias 75 ‘T fed o 7 e’ e g feht i €2

(A) To= i (B) WA FWEN [+ 3(C) A Te™ (D) oiFa Trel
Famous book ‘The Return of the Native’ is v ntten by whom ?

(A) BilGatess  (B) M.M.Kaya __ =(C) LioyDouglas (D) Thomas Hardy
@vﬁnﬁ@aﬁﬂ%&wﬁw%w%? : -

(A) T (B) SR =i(C) FdleH (D) weENE

Ellora is a sacred site in which of the following:state ?

(A) Rajasthan (B) Gujarat :,___E(C) Karnataka (D) Maharashtra
Hfafaarft FA T2

(A) ST S ST STHE % SI9eR T ST R §
(B) SR il B % ISR T IIT F &

(C) SIfieh it Fael TYell =1 STe29 % &

(D) ﬁarﬁmﬁhﬁnmnmwm% ¥

Who are ethologists ? MO
(A) Scientists who study the behaviour of wild animals
(B) Scientists who study the behaviour ofhumans

(C) Scientists who study only plants b A

(D) Scientists who study ethos B S

mmﬁwaﬂﬂmmﬁaaﬂwmmmﬁﬁ 3R et Fead 3 e ve=mT S &2

(A) e (B) e £,5(C) @t (D) wfagS

Which traditional dance form originating from Uttar Pradesh is recognized for its dramatic storytelling
and intricate footwork ?

(A) Bharatnatyam (B) Kathak (C) Chhau (D) Kuchipudi

MYZ-24 | 8



64.

65.

66.

67.

68.

R T N o O L R e P T NS [

QU SE SH1 A (PMFBY) 321 2
(A) Sfaw St yened w1 wwedw ol s 2 ¥ sin

Torreft ' [
by | Ffy faftreli = e & fog fparl
(B) ngﬁmﬁﬁﬁﬁwmﬁaﬂx?ﬁg@qﬁﬁ@ﬁaﬁm* T 9SH

W | By

(C) ae Hft arom =t Frfir Fwan ¥ iR Rt a0 3ot % fora afera 2
(D) % &= § geiee e 1 HelT w@ ¥ L
What is the Pradhan Mantri Fasal Bima Yojana (PMFBY) ?

(A) Supports and promotes organic farming practiées and provi i
adoption of sustainable agricultural methods. - ; providiss stbektiositn, lasmers:for a0

(B) PMFBY improves rural infrastructure and provides e o ;
agricultural communities. P mployment opportunities to youth in

C) It regulates agricultural market n '

ED; Supgons sus?ainabie productiosna::c:rﬁa Zg;ﬁ;{ﬁi:epgggfo?r bl e
feaet it S S Hive Wifem wewd | AwEe sErEe 9o e 22
(A Tl T FESe safa an e @ wefid € o) ymfor &
(B) &N H FTANTAl &t HE& Afreh § P
(C) TR & SN foue & fau P san e
(D) W& H AT ITANT fofan i &
What does “verified account” signify on social meijiq__platforms like Twitter and Instagram ?
(A) The account belongs to a public figure or organization and is authenticated
(B) The account has a high number of followers ™ . '

(C) The account is used for advertising i
(D) The account is frequently used

7

]

ey

Ib‘
[

A ATYSR HI Qe =Sgon 61 ferat waﬁ%i‘% femm = §2

The Universal Declaration of Human Rights is translated into how many languages ?

L

(A) 200 (B) 400 (C) 500 (D) 300
T fra S = gR1 22

(A S (B) AHMEI (C) =™ (D) TR
Real is the currency of which country ? .- : ;
(A) Brazil (B) Afghanistan (C)=-.Bhutan (D) Canada

[

wRE o g $6 (3 iR ) i g e ¥ 2
(A) WRd & i S famwm =1 seEn <) P

(B) TG Tu F 90 F Wy T iR SR H ARl

(C) et ufern % 0 & Wy Wik STRH-Ya- SR Al & S Ok g |
(D) efevi-gel ufvrn & Wy enfele i Wit el ot HTeq we |

What is the main purpose of India’s Look East Policy.?

(A) Promote agricultural development within India:.

(B) Improve relations and trade with European Union countries.

(C) Enhance cultural exchanges and people-to-people contacts with countries in East Asia.
(D) Strengthening economic and strategic ties with Southeast Asia.

MYZ-24 9 P.T.O.




69.

70.

1.

72.

73.

74.

75.

1942 ¥ 9Ra SIS AR & THT YRA 1 TEGTE HIA 92

(A) << Jaa (B), @i A¥eaA
(C) wiE R (D) ~wird femfeen
Who was the Viceroy of India at the time of the Quit India Movement in 1942 ?
(A) Lord Wavell (B)  Lord Mountbatten
(C) Lord Irwin (D) Lord Linlithgow
F Feper § TIqE A TS W IEH WA et agern e € :
(A)  Feafem (B) a fegafdn -(C) et (D) ¥~ afai
involves changing data prior ot during input into a computer. , :
(A) Smishing (B) Datadiddling -~ (C) Catfishing (D) E-mail bombing
TSHTh, HIUNEE AR UL | ¢ :
(A) svgd wufa (B) =dwmwef  (C) frw (D) ¥t Hafd
Trademarks, copyrights and patents are : -
(A) Intangible assets (B) Current assets (C) Investments (D) Fixed assets
S W W 2021 H faewiE B wE g2 F w9 H ITE W e gge <% 77 T2
(A) A (B) o WealER 5, ~(C) Tegmeis (D) e

Which country became the first to make usga_of Bitcoin as a legal tender in 2021 ?
(A) Japan (B) ElSalvador “. (C) Switzerland (D) Venezuela

ﬁﬁ%ﬁﬂﬁﬂﬁqm&muﬁwﬁﬁqﬁﬁ%ﬁﬂwwmﬁwméﬂ o1 ?
(A) FaEee faren (B). ~Hifeaa i
(C) w=a (D). =

Which of the following countries was the first.
setting ? o

(A) United Kingdom (B)™= ~Soviet Union

(C) France (D) United States of America
g T =1 g iy feaw & &9 § w7 s 8 ?

(A) HE & TEHT FHAR (B) W Al Y&l HITSER

(C) <=l = ey W aR (D) wE = ggen fgq

Which day is observed as No Smoking Day2 ! »
(A) Second Wednesday of March (B)., “First Tuesday of March
(C) Third Saturday of January (D){ First Day of May

YRA 61 HoH TSI WG i | § 2 i
(A) TP HueeE, T T P,
(B) wEufa fRrarst wers o wuee, ga'£ ]
(C) TIER ST HURled, ¥eUeTE fu

(D) YRG™ WU, ShieTeh -]

Which is the largest museum in India ?

(A) National Museum, New Delhi

(B) Chhatrapati Shivaji Maharaj Vastu Sangrahalaya, Mumbai

(C) SalarJung Museum, Hyderabad
(D) Indian Museum, Kolkata

..1' |.||"

-I.

.to achieve controlled nuclear fusion in a laboratory
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- 76.

78.

79.

80.

81.

82,

(A 72(2/3)% (B) 66(2/3)%

o e vRf w2 o & fow 5% #t A Twgfe = 3280 ¥ ¥, 9 we f fret ®2

The compound interest on a certain sum of money for 2 years at 5% is Rs. 3280. Then the sum is :
(A) Rs. 36000 (B) Rs. 32000 (C) Rs. 34000 (D) Rs. 30000

Ik 6 BT =1 3ivga w50 R S; 2 ST 1 3R R 53 R R, 31k 2 OTH w5 sivga wrss fEm e, @ wt
BEI 1 3iEa WRE

(A) 52.5 fFm (B) 55 fam (C) 51.6 femm (D) 64 femm

If the average weight of 6 students is 50 kg; that of 2 students is 53 kg; and that of 2 students is 55 kg;
then the average weight of all students is :

(A) 525kg (B) 55kg (C) 51.6kg (D) 64kg

39 = wfafe 10 W & o 12ﬁ:=ﬁﬁ®‘11?'laﬁwaﬂw%r% w1 30 =af wafed 6 e+
w0 & w1 fraa el A w2

(A) 26 f& (B) 14 f& (C) 15fE (D) 20 fe

39 persons can repair a tunnel in 12 days working 10 hours a day. In how many days will 30 persons

working 6 hours a day complete the work ?
(A) 26days (B) 14days (C) 15days (D) 20days

¢ T 5 gen faed 990 iR 1330 Y faifsa & W w6 31 10 duher ra e

The greatest number which divides 990 and 1330, leaves remainder 6 and 10 respectively is :

(A) 35 (B 15 (C) 20 (Dy 24

300 srEgail 1 fosha e, 500 gl & F HEA:SF AU R, 1 vl = @y ufewa 3. it

S.P. of 300 articles is equal to C.P. of 500 arlticles Find the loss or profit percentage.

" (C) 24(2/3)% © (D) 25(2/3)%

30 SErSl 1 STE 1 2%|ﬁﬁéﬂ3ﬁzoméﬁﬁqﬂ1 1 % iR o7t 9 o1 offEa 1 ®, it siftm Hem s 82

The average of 30 numbers is 1.2. The average, of the first 20 of them is 1.1 and that of the next 9 is 1.
Then the last number is :

(A) 49 (B) 4 "(G) 5 (D) 4.6

wa@%soooo@ﬁwsﬁaaﬂt@mﬁaﬁﬂlwﬁ%aﬁ 10% & Y T 3R et Al 5% i
ﬁmﬁaﬁmaﬁaﬁtﬁt%tﬁtmww@m% =S AT e 4 ot ?

A man bought a horse and a carriage for Rs. 80,000. He sold the horse at a gain of 10% and the
carriage at a loss of 5%. He gained 1% on his whole transaction. What is the cost price of the
horse ?

(A) 32,000 (B) 18,000 (C) 20,000 (D) 30,000

<t =t T T ST TR S R i 40 TR/ fRem o) 30 wud/ fReum €1 S S w5 R
aﬁqmﬁﬁmmmﬁqmﬁwﬁ 32 Fﬁ/ﬁﬁﬁﬁﬁﬂtﬂiﬁﬂﬁﬁéﬁﬂﬂﬂﬁ#ﬁ’

The ratio of quantities of sugar in which sugar costing Rs. 40/kg and Rs. 30/kg. In what ratio both
sugar should be mixed so that there is no gain.or loss when the mixture is sold at Rs. 32/kg ?

(A) 3: (B) 4:1 _c) 1:4 (D) 2:1
s faenedl 3 6 Y- %1 qden 9 | Yoie 9 -0 % o st 3i UHEa § 1 WA-TE 3 S§E
mms.s.?.a.g.w%Wﬁ%lwﬁwmswommmumﬁmﬁm—ﬁﬁaﬁm

37l & 60% W FH 3iF ra fhu ? R
A student appeared in 6 papers. The maxlmum marks are the same for each paper. His marks i II'I this

less than 60% marks ?
R 3 (B) 4 (C) 5 (D) 2

MYZ-24 11 P.T.O.



85.

86.

87.

88.

89.

90.

91.

92.

it 1 4..mﬁgm’ '35[1;"'%5 6 % ferw goft =1 1/6 T Forarw I E, gam-é; 4 % g
o 82 F“‘ifﬂﬂﬂ%mﬁa‘aaﬂm%zﬁ w3 % s ® B I fewd

. - th
In a partnership business, A invests 1/6t of the capital for 1/6 of the total time, B invests 1/4'" of the

capital for 1/4 of the total time and C, the rest of the capital for the whole time. Find the share of B, out
of a profit of Rs. 1940. '

(A) Rs. 120 (B) Rs. 160 (C) Rs. 180 (D) Rs. 200

50% 3R 40% i i g2 fareht wher g2 3w @ 2
Successive discounts of 50% and 40% equal a single discount of :
(A) 20% (B) 70% s (C) 48% (D) 60%

12,000 T T 9 WA ¥ T 20% Wit o F) T W Tl I, TG =T S €

The compound interest on Rs. 12,000 for 9 months at 20% per annum, interest being compound
quarterly is :

(A) Rs.2089.70  (B) Rs.2136 (C) Rs. 1750 (D) Rs.1891.50

A TF 1 31 63 Tl 9w ¥ iR B, Aaﬁgamﬁ40%eqﬁm§w%a’f3@$ﬁaﬁﬂﬁ3@“
fore o T = S R 2 -
(A) 60 & (B) . 45 f&m “yC) 49T (D) 40 f&a

Acando a piece of work in 63 days and B |s40% more efficient than A. Then the number of days taken
by B to do the same work is : "

(A) 60 days (B) 45days ;’j’j(cy 49 days (D) 40 days

TS 3 79.2 ﬁmﬁmaﬁnﬁ:@raarﬁ%:%7mft@@ﬁﬁmm% a1 S F FaE 9 d
Hife |
(A) 126 (B) 154 #t —?,f?(C) 150 #t (D) 118 #t

A train is running with a speed of 79.2 km/h =r nd it crosses a pole in 7 sec. Then find the length of the
train.

(A) 126 m (B) 154 m (C) 150 m (D) 118 m
fE forsha 7o 1 7% %9 Y & 8% & a0 iR Al fosha 1o &1 9% 3 T 1 2 T4 § 10% erh

T, O %9 Hea iR fosha o 9 wifsd |

If 7% of S.P. is equal to 8% of G P. and if 9% of S P. is Rs. 2 more than 10% of C.P, then find C.P. and
S.P.:

(A) 350, 400 B) 700, 800 &‘ 2(C) 800 950 (D) 350, 700
[ Wwr ®

3 FR i T FT I 3:4:6 T, Emmw@mmﬁwﬁmwmmwév

The ratio of speed of 3 cars are 3:4:6. Whatls the ratio of time taken by these cars to cover the same
distance ?

(A) 6:4:3 (B) 4:3:2 ‘*" L(©) 235 (D) 3:4:6

0.7, 0.35,1.05 %I A.9.9.(HCF) WWL
Find the HCF of 0.7, 0.35,1.05.
(A) 0.7 (B) 0.35 (C) 1.005 (D) 0.07

n

I-wl

"_."l'

!
l

29,

12



93.

94,

95.

96.

97.

98.

99.

At Tt Stg WA e | 40% s 3iftRa ¥ 1 aft 9% & sifea 709 Wx% F 2 & Wt €, @ 12%
1 S T W B € | o7 Ak U S qE 1 HA YT 2,400 T € I x% T Fifed §, 6 5@ T TG
=1 fosma Yo == o =nfew ?

An article is marked 40% above thelcgsi price. If a discount of x% is given on the marked price of the
article, then a final profit of 12% is obtalned. Now if C.P. of a new article is Rs. 2,400 and x% profit is
desired then what should be the selling price of that new article ?

(A) Rs. 2,480 (B) Rs.2,880 (C) Rs. 3,480 (D) Rs. 2,400

TR I BreF S Hi 1 66 et/ et gwd awva & e o9 ® i 55 R/ e 7, 9 gewa W, @™
fpa fivre Tct §2 &N

Excluding stoppage, the speed of bus:is 66 km/hr and including stoppage it is 55 km/hr. How many
minutes does the bus stop per min ?

(A) 19 (B) 20 (C) 10 (D) 15

Iz oy qd @t iR e Wk @S ¥ 2iR 270 Tt amrerd yw < €, A 319 @ R fown #:t sin e weh @S
2

(A) <R B) S® ©) (D) wfzm
If you start facing East and turn 270 degrees anticlockwise, what direction are you facing now ?
(A) South (B) North™" < (C) East (D) West

T Fifed g2 W H, ‘ELOWER' %1 ‘BROELW' & ¥4 H fed fohan S &, A1 ‘ANIMAL 1 58 TR feran
ST e : .

In a certain code language, ‘FLOWEEjEis coded as ‘RFOELW’, then ‘ANIMAL’ will be written as :

(A) LANIAM (B) LANJAM.F (C) LAJDNM . (D) LAIANM

b

Prefafad § & A 91 STIHH Fh! o 3T € 2

Which of the following sequences is different from the rest ?

& 1,4.9,16 b. 1,8,27,64

@ 2612,23 d. - 71;:16; 81,256 _ ,

(A) 1,8,27,64 (B) 2,6,12,23 (C) 1,16,81,256 (D) 1,4,9,16

39 fosea @1 9f fored St sHhigsy =i gren s § S e e den 3w gre wwEn @ e

=

Select the option in which the numbérs share the same relationship as that shared by the given pair of
numbers. ' P

12:20 al
(A) 19:33 (B) 830 : 42— (C) < 26:67 - (D) 34: 31

5
=

sferl # = ey (A SiB) T F3T B A A T W
Find the missing numbers (A and Bgli%he series and find the value of B—A.
11, 22, 33, A, 55, 66, 77, B A5 1l

(A) 55 (B) 88 (C) 33 (D) 44

MYZ-24 13 P.T.O.



100. 39 THfd I Ygam St S 1 T H )

101.

102.

103.

104.

105.

Identify the figure that completes the pattern.

? F o
(X)

. r
U v W o
ﬁqﬁf@awﬁ,mmmw%maaﬁl‘sﬁmﬁqﬂqﬁlmﬁﬁwwﬁmww%mﬁ
T ST H& TEl FAT S Gl © | W YRR Y Ugdr |
o 7 wse : "MACHINES” i i i B

In the following question, you'll find four other words provided alongsi :
words cannot be formed using the letters of the given word. Can you identify that word ?

Given word : "MACHINES”

(A) SEAM (B) NAMES (&) CAMEL (D)
frfafaa sga 3 Tt @ sifg F1 ol 3%, q” 1 a9t wwHl & I
RK59#B2%*E?A8L$14SV7IC6N@H13&D

& TR sfEen ¥ nren v Fruifa w5 : 542, *78;$4V, __

Examine the following sequence closely and respond to the questions that follow.
RK59#B2%*E?A8L$14SV7IC6N@H13&D

Determine the next term in the series : 5#2, *78,.$4V,

MESH

(A) Hi1& (B) L8$ ~.(C) Hei D) 6@
Heifd wres @ : €3
Torenror : Sgye |t ? ]
(A) 9 (B) <4 (C) TH=gHw (D) =

Find out the related word :
Triangle : Polygon :: Square : ?

(A) Circle (B) Rectangle (C) Rhombus (D) Quadrilateral
HaTtd Y55 1 Jal TG | '

I fafras : gf ::ags : 2 M

(A Fhw (8) W _ |,,j“(é) T (D) T

Find out the related word. e

Surgeon : Scalpel :: Carpenter : ? o

(A) Camera (B) Brush -=(C) Saw (D) Computer

4fz 7= ‘RECONCILE’ % 43, 53, 73 31t 8313760 & Ueh ol R S1ar o7 ez ST ST wohell 1 59
STeT 1 T Tk feha el ek S S TR & 2

@A) & S @) Cxe) =w (D) =

If a meaningful four Iétters word can be formed from the 4th, 5th 7th and 8t letters of the word
‘RECONCILE'. Using that letters how many meaningful words can be formed.?

(A) Two (B) Three (C) Four (D) One

P Y P Ty T Iy ey preerepepreny

MYZ-24 14




106.

107.

108.

200 BT % TV & YR W, 140 BTHI I hies TG TR §, 120 BT B (Hehis w6g B, 3iw 80 SE1
F1 S THE | fohad ol Y %9 A FH T U7 9EE /2

Based on a survey of 200 students, 140 students like cold drinks, 120 students like milkshakes, and
80 students like both. How many students like al least one of the drinks ?

(A) 200 (B) 140 (G).. 180 (D) 75

R 7 fen W @ R WE @ P ; )

Find the missing letter cluster in the given series. o

BYHN,CWKM,EUNL, ___ ,LQTJ (s '_

(A) HSQK (B) HRPQ (G) J GSPK (D) GRPK

Frafafas § ¥ S @ ow@ wfeenstl, wiast iR firmall & = Teul # gad o= En g i 22

Which of the following diagrams best represents the relationship between Women, Mothers and
Fathers ?

@ O % «Oo

109. = Tea1 7791 s W% & &ER 961 2006 sﬁmow‘%aﬂqwmmmﬁﬁ%maﬁﬁgﬁﬁﬁ

LY -

fast (1000 =t TEn #) Twiar 71 —

N

The bar graph given below shows the sales of books (in 1000s) from six branches of a publishing
company during two consecutive years 2006 and*2007

2006 afnzooﬁmmz;:qﬂﬁwwaﬁ*m A2, A3, A4, A5 3R A6 9 il =i fasnt (BRI

- =l 9T H) B |

Sales of Books (in thousand numbers) from Six Branches - A1, A2, A3, A4, A5 and A6 of a publ:shmg
Company in 2006 and 2007.

120

105 110

100
80
60
40
20

0

A1l A2 A3 Ad AS AB
|2006 W2007

ﬂﬁraﬂ%mwAaaﬁaﬁfﬁﬁaﬂﬁaﬁ%mwmaﬁﬁﬁﬁﬁmw%’

\;\;hat ig the ratio of the total sales of branch A2 for both years to the total sales of branch A4 for both
ars

(A) 7:9 (B) 6:7 (C) 57 (D) 8:9




110.

1.

112

113.

114.

YZ-24 16

2

"aquﬂmwgﬁmﬁmm",wwﬁ. uﬁaaﬁzmmﬂaﬂwmﬁ.

(A) T el | wren T

(B) 3 TTY H T Yl T

(C) Imet ayareen ® wrm T

D) <aIgar 1 o P
fn zhe context, “They were caught red-handed trying to steal”, what does “caught red-handed” imply *
(A) Found with red-hands C

(B) Caught in the act of committing a crime

(C) Found injured G

(D) Actof kindness -

M Y 3 s it Fremel/ freRd e ) i T @ e @ e ST S €
gomd: | o S & fuan € O daw & o €

I < S AT R
fremd: 1. oW o Uel €
2, Hm g HH ¥

(A) ST Frepd e B ¥ (B) ol Frepd 2 SrgEw FWI €

(C) 7 Frewed 1 3T & 2 TG T e (D) Fraver Frewd 1 ST B & _
ci;lelgd tt'lle assumptions and select the best conglusions/conclusion that follow/follows the assumptions

efinitely. =
Assum;thlons 8k Ajay is the father oigﬁ:reyas, Suraj is the brother of Shreyas.
L Seema is the mother-of Shreyas.

Conclusions: 1. Seema is the wife of Ajay.
2.  Seema is the mother:of Suraj.

(A) Both the Conclusions follow ~_:(B) Only Conclusion 2 follows

(C) Neither Conclusion 1 nor 2 follows = ™ (D) Only Conclusion 1 follows : [
A A%B=A+B-1,W10%2FME? ~ = i 2
IfA%B=A+B—1, whatis 10% 2 ? 1 i
Ay M (B) 12 (C) 20 (D) 5

ek SAferR 10 Hie I hT 3R =eran 8, it 20 Hiex 3 37 =er €, fR 20 Hiew < iR et €, R e
10 HiX T IR o7l €| 9% YE F 39 T fohael g =el T ?

(A) 28 i (B) 51 Hix (C) 25 = (D) 45 Hix

A person moves 10 meters north, then 20:meters to the right, then 20 meters to the right once more,
then 10 meters to the right again. How far.has.he gone from the beginning ?

(A) 28 meters (B) 51 meters =~ (C) ' 25 meters (D) 45 meters

P

Fifioh 1 T H 371 oo 55 Fredl @ vaRLAT6 62 forcl & o0 ¥ | 51 firan wififr & wewa 76 § oik
% o € fo ifiien @1 ot 50 Rl @ A @fE 60 fRdll § w1 ¥ 1 Swet w5 W faER # fh, sae
o511 58 fopeil § eiftrss 78 & T 91 A Wit o7 o1gmm A wdt € o e & fafim Sewfaa w5
seawng? 0 C . MR

In Karthik’s opinion, his weight is greater lﬁa_ﬁ'@S kg but less than 62 kg. His father does not agree with
Karthik, and he thinks that Karthik's weight Is.greater than 50 kg but less than 60 kg. His sister’s view

is that his weight cannot be greatey than 58 kg. If all are correct in their estimation, what is the average
of the different possible weights of\Karthik ?

(A) 57 (B) 60 (C) 59 (D) 58




115.

116.

17.

118.

119.

120.

121.

122,

123.

MYZ-24 17

g A 31 B & 9q=19 36 YR € fos, A § acil &1 e 20 ¥, B A el @t T 18 § 3l A ik B S A
el H W& 10 §, @ n(A U B) I ST 1, -

If A and B are two sets such that number of elements in A is 20, number of elements in B is 18 and
number of elements in both A and B is 10, find n(A U B).

(A) 38 (B) 48 “=(C) 18 (D) 28

<t ¢ JEen ¥ | A0 B @ ¢ i

Find the odd one from the given series :

4, 16, 36, 64, 100, 121, 196, 256 X

(A) 121 (B) 100 “(C) 256 (D) 36

sf@e 1, 6, 23, 76, A 3TTelt e T Wi |
Find the next number in the series 1, 6, 23, 76,
(A) 274 (B) 148 (C) 198 (D) 237

48 7o UH F A1 14 Tl A 2w 112 feli o 5 i 510 Fore T w0 1 wen 3@ wifw
48 men can do a work in 14 days. Find the amount of work done by 5 men in 12 days.
(A) 13.5% (B) 9.8% (C) 7.9% (D) 8.9%

M I TLBSBEAK|A % 18Rl 1 Yredfafiom e s @t 1 T =01 W 3, 9 et 3 A % o o
q B & FAEM? P .

Ifthe name of a game is formed by rearranging the letters of the word TLBSBEAKLA, then what will be
the sixth letter from the right end of the name-of the game ?

@ T (B) B -£=(C) S (D) E

A EEA1, 12, 144, ..., 20736 T FHfrwg 1= : |

Find the missing number 1, 12, 144, .., 20?7"'363

(A) 1278 (B) 1782 “=i(C) 1287 (D) 1728

afk RED F1 UHG % &9 & Fifea foran i1 BLUE %Y fore 9 & i et < 2

If RED is coded as UHG, then BLUE will be Coded as :

(A) EOXH . (B) EOHU (C) EOHX (D) FMUH

Terer ek ek Tg=A % T 3ran wraters @ 2o # ol 8 et werm ¥ 1 vt @ o stk e € ol e
fowet a5 9g=1 & o1 15 Hiet s 81 it o =<t =it faada g & 90 ferlt gear ¥ sk =i viw o
YgeH & faIu 8 HieX 9eral €, 9% 918 iR Yol ® S TR ugeH & o 8 et wern € | fofem & W% ey
4 Fraied o fem § 272 " '

(A) dfzm (B) sfEm . +(C) SW. | (D)

Lihaan walks 8 m towards South from his office to reach park. Then he takes left and walks 15 m to

reach traffic signal. Then he turns 90 degree anti-clockwise direction and walks 8 m to reach coffee
shop, he takes left and walks 8 m to reach home. Office is in which direction with respect to Lihaan's

home ? ; i
(A) West (B) South :-'“é*(C) North . (D) East

T foen gue 4= 4, & fw # g few iés-iwww%laﬁwﬂéaﬁﬁwﬁmm?ﬁ
feru-gfem forg o & €m ? :f*:;

(A) Iu-ufam B) Iw-g@ LAMe) (D) W

In a compass every direction is rotated to 135 degrees from the original direction. In which direction

will South-West be if the rotation took towards clockwise direction ?
(A) North-West (B) North-East (C) East (D) North

P.T.O.



124.

125.

126.

127.

128.

129.

130.

131.
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@A d, N R Y, 'S H D, R g, o, T K, M AL, AR okl
e ST 2, 39 Fre 4 'ORGANISM' 3 ferar s 2 Pl
In a certain code, ‘N'is written as 'J', ‘S’ as ‘D, ‘R’ as ‘Q, ‘O’ as ‘P, ‘I'as ‘K, ‘M'as ‘Z, ‘N as M’ and ‘G
as 'S, then how will ‘'ORGANISM' be written in that code ?

(A)  PQDZSMKJ (B) DZMSJPQK (C) PQMKJZDS (D) PQSMJKDZ

3 St W Y iR e a9 gEdl & ofm  wyoq feper w22
What is the angle between the hour and minute hands of a clock at 3 o’clock ?
(A) 30° (B) 50° (C).. 75° (D) 90°

A 543 + 1243 =24.249 ¥, W 792 +1543 mﬂm 1 g ?
If 543 + V243 = 24.249, then what will be the value of 753 +15V3 ?
(A) 38.84 (B) 37.84 (C) 40.84 (D) 39.84

T T T S, St v, se AR A SR S it o e 3 % R d i T e A
T # R Wi 92

A party consisted of a man, his wife, his four sons and their wives and three children in each son’s

E,

family. How many were there at the party ? ™
(A) 20 (B) 22 '

23 (D) 18

I||r:||1|l|

10—y
I

8

6 =afsRi U, V, \i\}',:x,vaﬁzzﬁﬂ,uwm%m ij%ﬁmamﬁaﬁﬁém%rw.v@a‘m%,sﬁw
150 A 71X, WA BT 1Y, U el X, U S B §1 3 Q S ge o hid 82

Among 6 persons U, V, W, X, Y and Z, it is knownthat; U is taller than at-least 3 persons. W is taller
than V, who is taller than exactly 1 person. X is not shorter than W. Y is taller than U and X is shorter

than U. Who is 4! tallest among them ? ot
(A) U (B) W ()= X (D) V
i T || :

Find the dissimilar wo_rd.
R54, W68, U63, L36, Y75

(A) RS54 (B) Ue3 (C) Y75 (D) Wes
v fag & T W 37 916l 9 96 it -

Find the number that comes in place of the quéstion mark.
T:12%:160 " i

(A) 15 8 13 - ©!1.. - (D) 14
M,N,o.P#ﬂommﬁumﬁ@maﬂﬁim—w%m.Pafnwﬁaim%aﬁt%aameiﬁt
Q9 B ¥ | Sherel T wAfo N @ ST €| 9ol SaahiF &2

M, N, O, P and Q are five friends. Each of ther{]‘qés a different height. O is taller than P and N and
shorter than M and Q only. Only one person is shorter than N. Who is the shortest ?

A M (B) O (C) N (D) P




132. a@ﬁﬁﬁm@mmﬁmﬁiﬁaﬂﬁ%aﬁ?—?ﬁa@ﬁl et ?
Which of the following figures will come in the mlssmg place in the below figure ?
#OIO] 7 &
(A) o (B) O L22(0) ; ; (D) A
133, Freifefad saen & Tom He B e H
' Identify the incorrect number in the following series.
12, 10, 6; 1; _Bl _18
(A) 12 (B) 10 (c) -18 (D) 1
)
134. T o Ty F@ H, 25@@%%3% e At § I O 1 ShEen R | At TaR W IS B
9 TR E, A A THE | TR S €, ﬁﬁﬁmwﬁuﬁmmﬁéﬁ o savas =i &1 =gHan den @
?? L 4
In a school sports club, 25 students decideéd to participate in a table tennis singles tournament. Each
time a student loses a match they are eliminated from the tournament. What is the minimum number
of matches required to determine the wmngr%_? ,
(A) 25 (B) 26 ey Y2 (D) 24
135. HI9-TaH H1 AHR 18, mwﬁﬁmﬁmw%wa@qmmm%?
(A) Ta= (B) WhHa (C) wRUE (D) WEren
What is the shape of the cross-section, when a cone is cut by a plane parallel to its slant height ?
(A) Ellipse (B) Circle (C) Hyperbola (D) Parabola
136. foom =it @ #X)
Find the odd one. 4
® e . & ®
A) @ (B) @ 5.3 (©C) @ (D) @
® < = &® @
-
137. =% e 5 <t el @ it 1 o
(A) sut edfem  (B) eTieT (C) chRwmemfE (D) WU
Choose the option which is different from the rest.
(A) NorthAmerica (B) Argentina (C) SouthAmerica (D) Europe

e - e

19



138. fawe A, B, C 3k D & & fad (X) 1 7t srer-whaferar g

Choose the correct water-image of figure (X) fro_:m_q__lternatives A, B,

139.

140.

141.

142,

¢ and D.

@ . Kl
X)
= 053 @R
W el ® p o x g ©®
- b
1 §IQ i @ : 1
A) I (B) qHM ()" sust (D) Frard

Complete the analogy :
Rain : Flood :: Drought :

(A)

Famine (B) Storm (C) Harvest (D) Abundance

T T SR IR~ Seit @i 3TerT § F4ife l

(A)
(B)
(C)
(D)

TR Sl W IR €, st TR-Teieia et s o © |

r-Teltaita Sl S s st S qeE § i w@ie F o €

Rl il S g} T 20§, ST, A el S gest 9 9 8 €
THFOMA Sl B T F W IR ©9 Y R 9 S g ST TR-TAH A

ST Eid TE R g | :

A renewable and non-renewable energy source aré-differentbecause .

(A)
(B)

(C)
(D)

Renewable energy sources are finite, while-non-renewable energy sources are mﬁr:;}e.
Non-renewable energy sources are more-environmentally friendly than renewable energy

sources. 4

Non-renewable energy sources are derive@ﬁ ym the Sun, while renewable energy sources are
derived from the Earth. { w0

=

Renewable energy sources can be replenishe
sources cannot.

o

o

naturally over time, while non-renewable energy

Terenl iR BT Wfed 1280 wAfwmEl i U WY T Gelied 3 9N @ w1 9 59 15 BHEl & fag, TH
Torer 8, O Te A fopaa foers €2

A group of 1280 individuals, consisting of teachers and students, is attending a conference. For every
15 students, there is one teacher. How many teachers are in the group ?

(A)

75 (B) 80 (C) 85 (D) 70

a Hifse 6, mpfar (X) & R Te gl ¥ Fi-, s o <1 wemet 22

Find out which of the figures can be formed from_f,t{]egpieces given in figure (X) ?

7

el
P W 4
I.Imn i

(X)

e (B) § (

20

JA
Y

i
»
e

Gl
_

O -7




143, HH-H1 I g | T8I © 7
(A) TR (B) el (C) @= (D) =%
Which word does not belong in the group ?
(A) Carrot (B) Banana (C) _ Apple (D) Cherry
144. TH TR, gﬁmﬁaanﬂ 100}@@%'@31%9%@‘11&, e faerEl i afae @ @ wea 21 5 15
& A, ¥ferd & 130 379 T, el % 90 ofeh §, =efl 9120 i ¥ i 2fere & 110 i §1 9k e Y wedt
3 y3e ¥ 30 3% Wi forg, Tt eift 2 wEe § 5o fhew aje mmand 2
In a game, each player starts with 100 points. In each round, a player can gain or lose points. After
5 rounds, Alice has 130 points, Bob has 90 points;.Charlie has 120 points, and David haa-‘fJ 110 points.
If David gained 30 points in the first 3 rounds, howﬁ_[gany points did he lose in the last 2 rounds ?
(A) 40 (B) 20 (C)5 30 (D) 10
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If A +B means Ais thg brother of B; A X B means A is the father of B and A —B means Ais the sister of
B, which of the following relations shows that | is the niece of K ?
A) K+YxI-Z (B) Z-IxY+K (C) KxY+I-Z (D) K+Y+Z-I
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Find out the number of triangles in the figure.
1
3/4|5\6 "’
. 718
9 10 o 5 13
14 16
15
(A) 39 . (B) 46 (D) 32
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Find the next one.
*
*
(A) v (B) (). A o 1By
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Find the odd one out.

® -?/\- o :> o | NA
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How are rivers and streams similar ?

(A)  Both contain saltwater (B) “Both are found in deserts

(C) Both are static bodies of water (D)" ./Both flow downhill
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Consider the conditions for selecting faculty members in a computer education centre :

Age between 23 to 28 years as of November 1, 2023.

Work experience or programming experience.

Postgraduate degree in computer application with at least 60% marks.

Minimum of 25 marks in the interview out of 50.

If the candidate does not have PG, the case is to be referred to the senior faculty member.

If the candidate does not score minimum marks in the interview, the case is to be referred to
principal of the institute.

g. Ifthe candidate satisfies all other qualifications except the age limit, the case is to be referred to
the director of the centre.
Which course of action should be taken for Manish Kumar based on the following information?

Manish Kumar : M.Sc. in Computer Scienf;gjv:ﬁth 62% marks. Date of birth : July 10, 1990. 4 years of
experience as a computer teacher. Obtained 40% marks in the interview.

(A) Candidate is to be selected as a]urlfor;jaculty member
(B) Candidate is not to be selected /= ;

(C) Dataisinadequate s

(D) Case is to be referred to the directorof jhe centre
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